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1. The quotient when8b is divided by (—6) is

4 6 2
- w3y i (~8py 2,
(i) (=2b) (i) ( 3 ) (i) ( 5 ) (iv) ( 3 )

2. The quotient when(—fz) is divided by (f+4)is

(i) (=F+4) (i) (=37F+4) (i) 4 (iv) (=27+4) (v) (2f+4)

3. The quotient when(6v+1)is divided by (v—3)is
(i) 8 (i) 7 (iii) 6 (iv) 5 (v) 4

4. The quotient When(—4y2 —2y—7)is divided by (y—7)is

(i) (=6y=30) (i) (=3y—=30) (i) (=y=30) (iv) (=4y=30) (v) (=5y=30)

5. The quotient when(7z2 +82)is divided by (z+1)is

(i) (8z+1) (ii) (9z+1) (iii) (6z+1) (iv) (4z+1) (v) (7z+1)

6. The quotient when (k3> —7k2+2)is divided by (k—2) is

(i) (=5k—=10) (ii) (2k2=5k—10) (iii) (=2k2=5k—10) (iv) (4k%—5k—10) (v) (k*—=5k—10)

7. The quotient when (=24 -9 +72-3r-6)is divided by (2 —r—72) s
(i) (=11r—148) (i) (=r2—11r-148) (iii) (=2r%—11r—148) (iv) (=52 —-11r—-148)

(v) (=3r2-11r-148)

8. The quotient when(—6u°—8u%—7u3 —2u2—5u—5)is divided by (u+8) is
(i) (=9u*+400u3-32702+26140u—-20917) (ii) (-3u*+400u3-3270u%+26140u—-20917)
(i) (=6u*+4003-3270%+26140—20917) (iv) (=5u*+4003-3270u%+26140u—20917)

() (=7u*+4003 32702 +2614u-20917)

9. The remainder when x is divided by (—6) is

(i) 2 (i) 1 (i) (=1) (iv) 0 (v) (=2)

10. The remainder when5 22 is divided by(z+8) is

(i) 320 (ii) 318 (iii)) 322 (iv) 319 (v) 321
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The remainder when(—=6b—1) is divided by (b—4) is
(i) (=26) (i) (—=28) (iii) (=22) (iv) (=25) (v) (—24)

The remainder when(f2 +2f)is divided by (f+4) is

(i) 7 (ii) 6 (i) 9 (iv) 10 (v) 8

The remainder when(2 u? —8u—4)is divided by (u—8) is

(i) 61 (ii) 59 (iii) 62 (iv) 57 (v) 60

The remainder when(—2a3—8a+5) is divided by(a2+5a—6) is

(i) (=71a+65) (ii) (=72a+65) (iii) (=70a+65) (iv) (-69a+65) (v) (—-67a+65)

The remainder when (7 W4+2W3+9 W2+2 w—2)is divided by(W2+8 w+16)is
(i) (=1769w—-5266) (ii) (—1767w—-5266) (iii) (—-1766w—5266) (iv) (—1764w—5266)

(v) (=1765w—5266)

The remainder when (- 8% + k3 —k—3) is divided by (k2 +17k+72) is

(i) (19938k+126213) (ii) (19934k+126213) (iii) (19936k+126213) (iv) (19937k+126213)
(v) (19935k+126213)

(=3X3—2x24+3x+2) +(=3x°+x+2) =

(i) (x+1) (i) 1 (i) (=x+1) (iv) (2x+1) (v) (x—1)

(48X3y2+16x2y2) +4xy =

() (12x2y+4y2) (i) (12x3y2+4xy) (i) (12x3)3+4xy) (iv) (12xX2y+4xy22) (v) (12x2y+4xy)

( 1944)(3y324 +324x2y4z3 +36x2y324) + 6)(}/222 =

(i) (324X2y22+54xy22+6xy22) (ii) (324x2y22+6xy22+54y32) (iii) (324x2y22+54xy322+6xy22)

(iv) (324x3y222+54xy22+6xy22) (v) (324x3y322+54xy22+6xy22)

(25x% +15x3) + 5x2

(i) (=5x2+3x) (i) (5x%2+4x) (i) (5x2+3x) (iv) (4x2+3x) (v) (5x2—3x)

(15x* +29x3+12x2) + (3x% +4x)

(i) (=5x2+3x) (i) (5x2=3x) (i) (5x2+3x) (iv) (4x2+3x) (v) (5x2+4x)

(10x4+82x3—74x2—18x) +(2x2+16x—18)

(i) 5x2 (i) (5x2+2x) (i) (5x%24x) (iv) (=5x2+x) (V) (5x2—x)



23. Find the remainder When(2)(2 —9x—5)is divided by (x—4)

(i) -8 (ii) -9 (iii) -10 (iv) -7 (v) -11
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1) (i) 2) (i) 3) (iii) 4) (iv) 5) (v) 6) (v)
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